Advanced Algebra 2: CH7B – Introduction / Review


Chapter 7.7 involves factoring and simple rules for multiplying and dividing (including canceling out common factors)

For example consider the product. 
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This product equals
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, but we do not have multiply everything out in order to simplify this expression.

If we factor each quantity the expression looks like this: 
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Now we can cancel identical quantities: 
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 which equals 
[image: image5.wmf]2

x

x

+

.  Here we cannot cancel out the x because it is part of a sum, namely x + 2.  We can only cancel out common factors within a product.

It is important to note here that 
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 because these values would make the denominator zero, and division by zero is undefined.  In other words, 0, 2, and 4 are not in the domain of the original expression.

There are instances we can cleverly cancel out quantities.  For example, suppose we have 
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.  The numerator and denominator are not equal for subtraction does not follow the commutative property.  However, if we factor a -1 from the denominator we get 
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.  Now the quantity (x – 7) can cancel out and we are left with 
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 or simply -1.  

Be careful not to make the following mistake when attempting to simplify  
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:  
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 which still does not allow us to cancel any quantities out as (x + 2) is not the same as (x – 2).  So 
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 is simplified as we see it.

Also watch for some neat cancellations such as 
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How do you simplify the following quotient:  
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.  Here we can multiply the reciprocal as follows: 
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  this can be simplified by to 
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  as 2 goes into 4 twice and 9 goes into 27 three times.  This simply review of dividing fraction is helpful when considering more complicated expression such as 
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 after multiplying the reciprocal and factoring. Now,  
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 which equals 
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.  Now cancel out an x and the simplified expression equals 
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.  Note again that x cannot equal 0 and x cannot equal (– y) because these are the values of x that would cause us to divide by zero, which is not allowed. 
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